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ANSWER KEY

PART Il: READING COMPREHENSION (30 MARKS)

A. Choose the best alternative according to passage 1. (3 x 2 = 6 marks)
1. Diversity according to the article is essential in society since it

(D) helps us accept other people with their differences.

2. Diversity brings along
(A) the promotion of intercultural communication.
3. Learning about different cultures will contribute to
(A) children’s understanding of their own culture.
B. 1. difference 2. accept 3. adjustable (5 x 2 =10 marks)
4. developed 5. individuals
C. Choose the best alternative according to passage 2. (2 x 2 =4 marks)
1. According to the passage
C. it is not clear in what way smoking pollutes the ground and air.
2. Cigarette pollution
C. affects our bodies, the air, land and water.
D. Indicate whether the following statements are TRUE or FALSE. (5 x 2 = 10 marks)
1. True 2. False 3. True 4. False 5. False
PART lll: USE OF ENGLISH (30 MARKS)
A. Complete the second sentence so that it has a similar meaning to the first

sentence, using the word given. Do not change the word given.
(10 x 1 =10 marks)
warned the students not to
had prepared well (enough)
is being built
haven’t seen John for
would rather not
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am not keen on

must have forgotten
am not allowed to
had better study hard
0. provided you return it
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Use the words given in brackets to form words that fit the blanks.
(10 x 1 =10 marks)

1. origin 2. famous 3. ruler 4. known 5.cruelty

6. historical 7. essentially 8. romance 9. beautiful 10. real
Complete the gaps with ONE suitable word. (10 x 1 = 10marks)
1. what/everything/all 2. which 3. are 4. for 5. of

6. because/that 7. much 8. due 9.to 10. that



